[N A

Math 095 Common Final Exam -- Form B Fall 2010

1.) Conspder the equation of the line~ 5x -4y =20
a) Find the slope

b} Find the y -intercept. Write your answer as an ordered pair.

F 3
Y

@) Graph the line. Label two points.

2.) Graph: 2x-3y <6 \

L
A 4

3.) Subtgact (4x2m5x + 10) from (2x2—3x + 5)
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4.) Solye the equation:

5.) Solv

08x +.09(x + 2000) = 690

e each of the following (Do not graph):

B —4(x—2) S —5x+6

6.) Factor completely:

o

1037 —130p%+400y

b) AN
4

b dx* +4
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7.) Fort

a) What is the domain?

b) Whdt is the range?

c) Isit g function? Why or why not?

&) Grap

he relation {(5, -2), (3, 1), (1, 3), (5, -1)}

h the parabola: vy =—x” +2x+3

(learly state the y-intercept, any x-intercept(s), and the vertex.

x-int:

y-int:

Vertex|:

9.) Solve

> by completing the square: x? +12x =11

L 4
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10.) 240

is 12% of what number?

11.) Exp
8)

4x—5)2

and and simplify:

12) Ad
children

b) (x—2)(x* +2x +4)

13.) Sols

e forx

(3x+6)* =81

mission to a play for 4 adults and 2 children is $22. Admission to the same play for 2 adults and 3
s $16. How much are adult and children’s tickets?
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14.) The three sides of a right triangle are consecutive even integers. Find all three sides.

15.) Perd

-2

'orm the indicated operations and simplify, if possible.

/45 - 5./80 +24/20

16.) Solve the system. If there is no solution or an infinite number of solutions, state this.

{—4x+4yr:—8

y=x-

2




Math (093 Com’mon Final Exam -- Form B Fall 2010 6

17.) Solyeforx: ~2x+25=x-5

at+d =2
@t +5a a*-25

18.) Solve for a:

6 s
x' -4 x*-x-6

19.) Subtract and simplify:
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L S P -5 P -Ty?
20.) Divide and simplify; zy y_ .Y ; 7y” +10y
yo+Ty+12 3 +9y+18

21.) Sinplify. Write your answers without negative exponents. Assume all variables are positive.

a"b -
b) 3x° +(2x)°
a) ab3] | ) (2x)

22.) A syraight line passes through the points (8, 8) and (6, 2).

a) Find the slope of the line.

b) Find the equation of the line in slope-intercept form.
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23.) Pegform the indicated operation and simplify, if possible. Be sure to rationalize the denominator if
necessary

2) (245 -4f45 +3) b) 322’52

24.) Petform the indicated operations and simplify, if possible. Be sure to rationalize the denominator if
necessary.

.
V542

x5

25.) a) [Find the value(s) of x for which the rational expression is undefined; T 1an 15
X" +Lx—

x+5

2

b) $implify the rational expression completely ——————
x*+2x-15




